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. M (Voltage, V): H7| X0l b=,

M| X} (electric potential difference)2tlx &t
Chel= 2 E (volt, V)

- (A2} (B)= =%IX10]7} g0 S0| S =2X| Xg
- (02} (D)= =¢XI0|7} AO0{AM 20| SE = A

« X2 (Resistance, R):
H7]9l SE Wolsts AXt
THel= S (ohm, Q)
l
R=p-
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« M= (Power, P): F17| 0| X|7} C}IE FEH Of|L{X| = HHH O] AT A
CHl = QLE (Watt, W)
. [0 Hl] TVS] AR HUL 220V, E2{7t MEL 2ABHH, TVZ} AH|$H HE L2

P — V X I . [HEH P=VI=220X2=440W

« MAHZK(W): AT AlZE THE 9| H7|of|{X|o] ZF
Ct2 = 2E A|(Watt-hour, Wh)

. [OIH] fI18] ZHOE 2A|Zt TVE AIRSILCIH TVO| AH| M7

W — P Xt [HEH P=VI=220X2=440W

W=Pt=440X2=880Wh
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TN, BN, FA|

« EM: 7|7t Sol= =M
BN & matM H217F S517|1 = oF 5171 = S5t =X
« FEN: MI|7t SoIX| k= =M

[YHEO|&]
« MLl (Conduction Band): OKO|A| ™ X}7} Exle + = oL X| 2f*&.

=
=227t Sct7HH AP ey HRIF =S + A= 9.

» 7P Xt (Valence Band): KOl FXt7F & MUK Qe oL X] 2Y.
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conduction band |
af=tul

N ' |
E- -
band gap } = E, | ‘7:15[-
S vt S FER KON = T : SER| KECB
V N A ’ ‘ ! 171; C

valence band
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=X https://www.youtube.com/watch?v=Q0gjlRIsXPk, 2 dSDl 512 x4 *



https://www.youtube.com/watch?v=wl6NGtJKau8
https://www.youtube.com/watch?v=eVfcVlcXo40
https://www.youtube.com/watch?v=Q0gjIRlsXPk
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